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Question No : 1

Decision / Branch Coverage strategy

A. Always satisfies statement coverage

B. Means that every branch direction is traversed at least once
C. Is used in black-box testing

D. Is the same as condition coverage

Answer: B

Question No : 2

The Baldrige award is a world-wide quality award.

A. True
B. False

Answer: B

Question No : 3

The receivers of an information systems service are known as a users.

A. True
B. False

Answer: A

Question No : 4

The Pareto analysis is most effective for

A. Showing relationships between items
B. Ranking items by importance
C. Measuring the impact of identified items
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Answer: B

Question No : 5

Which two elements are the major causes of documentation problems? (Choose any Two)

A. Forgetfulness

B. Not enough time
C. Personal attitudes
D. Low priority

Answer: C,D

Question No : 6

The functionality/structure of the system created to solve a problem, satisfy a user need
(note that this is the creative part of the design process) is known as the fishbone diagram.

A. True
B. False

Answer: A

Question No : 7

Quiality improvement programs must be management led and customer oriented.

A. True
B. False

Answer: A

Question No : 8

In the IT workbench, quality, and performance of the work are the responsibility of the QA
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department.

A. True
B. False

Answer: B

Question No : 9

Vision is a clear definition of the result you are trying to achieve.

A. True
B. False

Answer: A

Question No : 10

The more common benefits associated with a service-level agreement are:

A. Establish two-way accountability

B. Make complaining easy

C. Provide the basis for an IS budget
D. When Testing is over it becomes QA

Answer: D



